TEF(NATO) ng/

2,3,7,8-T CDD 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,3,6,8-T CDD 7 3 43 | 0.008 | <0.002 | 0.002 | 0.002
1,3,7,9-T CDD 7 2 29 | 0.004 | <0.002 | <0.002 | <0.002
T CDD 7 1 14 | 0.004 | <0.002 | <0.002 | <0.002
1,2,3,7,8-P CDD 0.5 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
P CDD 7 1 14 | 0.003 | <0.002 | <0.002 | <0.002
1,2,3,4,7,8-H CDD 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,6,7,8-H CDD 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,7,8,9-H CDD 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
H CDD 7 1 14 | 0.006 | <0.002 | <0.002 | <0.002
1,2,3,4,6,7,8-H CDD 0.01 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
H CDD 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002

0 CDD 0.001 7 7 100 | 0.010 | 0.003 | 0.006 | 0.008
1,3,6,8-T CDF 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
2,3,7,8-T CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
T CDF 7 1 14 | 0.013 | <0.002 | <0.002 | <0.002
1,2,3,7,8-P CDF 0.05 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
2,3,4,7,8-P CDF 0.5 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
P CDF 7 1 14 | 0.004 | <0.002 | <0.002 | <0.002
1,2,3,4,7,8-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,6,7,8-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,7,8,9-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
2,3,4,6,7,8-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
H CDF 7 1 14 | 0.006 | <0.002 | <0.002 | <0.002
1,2,3,4,6,7,8-H CDF 0.01 7 1 14 | 0.002 | <0.002 | <0.002 | <0.002
1,2,3,4,7,8,9-H CDF 0.01 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
H CDF 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002

0 CDF 0.001 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
7 7 100 | 0.055| 0.003| 0.015| 0.009

(ngTEQ/ ) 7 0 0 |0.0000 | 0.0000 | 0.0000 | 0.0000




TEF(NATO) ng/

2,3,7,8-T CDD 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,3,6,8-T CDD 7 5 71 | 0.021 |<0.002 | 0.009 | 0.006
1,3,7,9-T CDD 7 4 57 | 0.007 | <0.002 | 0.003 | 0.002
T CDD 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,7,8-P CDD 0.5 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
P CDD 7 2 29 | 0.002 | <0.002 | <0.002 | <0.002
1,2,3,4,7,8-H CDD 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,6,7,8-H CDD 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,7,8,9-H CDD 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
H CDD 7 2 29 | 0.004 | <0.002 | <0.002 | <0.002
1,2,3,4,6,7,8-H CDD 0.01 7 3 43 | 0.003 | <0.002 | <0.002 | <0.002
H CDD 7 1 14 | 0.005 | <0.002 | <0.002 | <0.002

0 CDD 0.001 7 7 100 | 0.059 | 0.005| 0.017 | 0.010
1,3,6,8-T CDF 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
2,3,7,8-T CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
T CDF 7 1 14 | 0.002 | <0.002 | <0.002 | <0.002
1,2,3,7,8-P CDF 0.05 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
2,3,4,7,8-P CDF 0.5 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
P CDF 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,4,7,8-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,6,7,8-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,7,8,9-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
2,3,4,6,7,8-H CDF 0.1 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
H CDF 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
1,2,3,4,6,7,8-H CDF 0.01 7 2 29 | 0.004 | <0.002 | <0.002 | <0.002
1,2,3,4,7,8,9-H CDF 0.01 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002
H CDF 7 0 0 |<0.002 | <0.002 | <0.002 | <0.002

0 CDF 0.001 7 1 14 | 0.002 | <0.002 | <0.002 | <0.002
7 7 100 | 0.10 | 0.005| 0.034 | 0.024

(ngTEQ/ ) 7 1 14 | 0.0001 | 0.0000 | 0.0000 | 0.0000




ng/

2,3,7,8 - T CDD 0.002 0.002 0.002
1,3,6,8 - T CDD 0.016 0.001 0.001
1,3,7,9 - T CDD 0.006 0.005 0.002
- T CDD 0.003 0.002 0.002
1,2,3,7,8 - P CDD 0.002 0.002 0.002
- P CDD 0.008 0.002 0.002
1,2,3,4,7,8 - H CDD 0.002 0.002 0.002
1,2,3,6,7,8 - H CDD 0.002 0.002 0.002
1,2,3,7,8,9 - H CDD 0.002 0.002 0.002
- H CDD 0.016 0.002 0.002
1,2,3,4,6,7,8 - H CDD 0.033 0.007 0.001
- H CDD 0.032 0.005 0.002

0 CDD 0.22 0.016 0.016
1,3,6,8 - T CDF 0.002 0.002 0.002
2,3,7,8 - T CDF 0.002 0.002 0.002
- T CDF 0.008 0.002 0.002
1,2,3,7,8 - P CDF 0.002 0.002 0.001
2,3,4,7,8 - P CDF 0.002 0.002 0.002
- P CDF 0.008 0.002 0.002
1,2,3,4,7,8 - H CDF 0.002 0.002 0.002
1,2,3,6,7,8 - H CDF 0.002 0.002 0.002
1,2,3,7,8,9 - H CDF 0.002 0.002 0.002
2,3,4,6,7,8 - H CDF 0.002 0.002 0.002
- H CDF 0.003 0.002 0.002
1,2,3,4,6,7,8 - H CDF 0.019 0.005 0.002
1,2,3,4,7,8,9 - H CDF 0.002 0.002 0.002
- H CDF 0.008 0.002 0.002

0 CDF 0.030 0.005 0.001
0.41 0.049 0.020

[ ngTEQ/ ] 0.001 0.000 0.000




